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INSPECTOR OF FISHERIES IN FISHERIES DEPARTMENT IN TAMIL NADU FISHERIES 

SUBORDINATE SERVICE 
 

1. Application of Cathode Ray Oscillograph (CRO) is 
a. To study the waveform of AC voltages. 
b. To study the waveform of sound musical instruments. 
c. To measure small AC and DC potentials 
d. All the above 
e. Answer not known 
NfNjhL fjph; miyNehf;fp (CRO) fPo;fz;l vjw;F gad;gLfpwJ. 
a. AC kpd;dOj;jj;jpd; miytbtj;ij fhz 
b. ntt;NtW ,irf; fUtpfspypUe;J tUk; xypapd; miytbtj;ij fhz 
c. rpW AC kw;Wk; DC kpd;dOj;jq;fis fhz 
d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
 

2. The Converse of magnetostriction effect is 
a. Thomson effect  b. Villari effect  c. Curie effect 
d. Bitter Powder effect  e. Answer not known 
fhe;jtpay; tpistpd; khw;W ____ MFk;. 
a. jhk;rd; tpisT  b. tpy;yhhp tpisT  c. f;A+hp tpisT 
d. gpl;lh; nghb tpisT  e. tpil njhpatpy;iy 
 

3. Pyrometer works on ____ law.  
a. Stefan’s law   b. Charle’s law  c. Boyle’s law 
d. None of the above  e. Answer not known 
igNuhkPl;lh; ____ tpjpapd; mbg;gilapy; Ntiy nra;fpwJ. 
a. ];Bgd; tpjp   b. rhh;y]; tpjp  c. ghapy; tpjp 
d. Nkw;$wpa vJTkpy;iy e. tpil njhpatpy;iy 
 

4. The relation between weight and gravitational mass is 

a. w = mg    b. m = wg    c. m = 
𝑔

𝑤
 

d. w = 
𝑚

𝑔
    e. Answer not known 

vilf;Fk; <h;g;gpay; epiwf;Fk; ,ilNaAs;s njhlh;G 

a. w = mg    b. m = wg    c. m = 
𝑔

𝑤
 

d. w = 
𝑚

𝑔
    e. tpil njhpatpy;iy 

 
5. Dancing, Driving and Writing are examples of ____ learning domain. 

a. Mechanical learning domain  b. Cognitive learning domain 
c. Affective learning domain   d. Psychomotor learning domain 
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e. Answer not known 
eldk; MLjy;> NgUe;ij Xl;Ljy; kw;Wk; vOJjy; vd;git ve;j fw;wy; Gyepiyf;F 
vLj;Jf;fhl;L 
a. ,ae;jpuf; fw;wy; Gyk;   b. mwpTf; fw;wy; Gyk; 
c. csk; rhh;e;j fw;wy; Gyk;   d. nray;ghL rhh;e;j fw;wy; Gyk; 
e. tpil njhpatpy;iy 
 

6. In bats, Sweat glands are located in the 
a. Sides of the head  b. Abdomen   c. Ears 
d. Eyes    e. Answer not known 
ntspthy;fspy; tpah;itRug;gpfs; fhzg;gLk; ,lk; 
a. jiyapd; gf;fthl;by;  b. tapW   c. fhJfs; 
d. fz;fs;    e. tpil njhpatpy;iy 
 

7. The dental formula of man is 

a. 
0033

3133
  b. 

2033

1023
  c. 

𝟐𝟏𝟐𝟑

𝟐𝟏𝟐𝟑
  d. 

1003

1003
  e. Answer not known 

kdpjdpd; gy; #j;jpuk; 

a. 
0033

3133
  b. 

2033

1023
  c. 

𝟐𝟏𝟐𝟑

𝟐𝟏𝟐𝟑
  d. 

1003

1003
  e. tpil njhpatpy;iy 

 
8. The study of particular culture and region to make of use of Indigenous plants is 

known as 
a. Taxonomy   b. Ethnobotany  c. Anthropology 
d. Pomology   e. Answer not known 
Fwpg;gpl;l gFjpiar; rhh;e;j G+h;tFb kf;fs; gad;gLj;Jk; jhtu gad;ghLfs; gw;wp 
mwpAk; gbg;gpw;F vd;d ngah;? 
a. lhf;rhdkp   b. vj;jNdhghl;ldp   c. Me;juNghyh[p 
d. Nghkhy[p   e. tpil njhpatpy;iy 
 

9. Who was the Editor of Political Magazine “Dravida Nadu”? 
a. C.N. Annadurai  b. M. Karunanidhi   c. J. Jayalalitha 
d. M.G. Ramachandran  e. Answer not known 
‘jpuhtplehL’ vd;w murpay; ,jopd; Mrphpah; ahh;? 
a. C.N. mz;zhJiu  b. M. fUzhepjp   c. J. n[ayypjh 
d. M.G. ,uhkr;re;jpud;  e. tpil njhpatpy;iy 
 

10. Navasakthi, a Tamil. Weekly magazine was started by . 
a. V. Kalyana Sundaram  b. E.V. Ramasamy  c. V.V. Subramaniyan 
d. V.O. Chidambaram   e. Answer not known 
‘etrf;jp’ vd;w jkpo; thu gj;jphpf;ifia njhlq;fpath; 
a. tp. fy;ahz Re;juk;  b. ,.Nt. uhkrhkp  c. t.Nt. Rg;ukzpad; 
d. t.c. rpjk;guk;  e. tpil njhpatpy;iy 
 

11. Head quarter of Theosophical Society was located in 
a. Calcutta   b. Delhi   c. Madras 
d. Bombay   e. Answer not known 
gpuk;kQhd rigapd; jiyikaplk; mike;jpUe;j ,lk; 
a. fy;fj;jh   b. nly;yp   c. nkl;uh]; 
d. gk;gha;    e. tpil njhpatpy;iy 
 

12. Match correctly the Poligars with their ruling territories: 
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A. Kattabomman   1. Dindugal 
B. Gopala Nayak   2. Coimbatore 
C. Maruthupandiyan   3. Panchalankurichi 
D. Kerala Varma    4. Sivagangai 
 A B C D 
a. 3 4 2 1 
b. 2 4 1 3 
c. 3 1 4 2 
d. 2 1 4 3 
e. Answer not known 
ghisaf;fhuh;fis mth;fspd; Ml;rpg; gFjpfNshL rhpahfg; nghUj;Jf: 
A. fl;lnghk;kd;   1. jpz;Lf;fy; 

B. Nfhghy ehaf;   2. Nfhak;gj;J}h; 
C. kUJghz;bad;  3. ghQ;rhyq;Fwpr;rp 
D. Nfus th;kh   4. rptfq;if 
 A B C D 
a. 3 4 2 1 
b. 2 4 1 3 
c. 3 1 4 2 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

13. Match the persons with places: 
A. Oomaithurai   1. Odanilai 
B. Marudu Brothers  2. Thirumayam 
C. Alagumuthu Kone  3. Kalayar Kovil 
D. Theeran Chinnamalai 4. Kattalankulam 
 A B C D 
a. 3 2 4 1 
b. 2 3 4 1 
c. 4 1 2 3 
d. 1 2 3 4 
e. Answer not known 
egh;fis> ,lq;fSld; nghUj;Jf: 
A. Cikj;Jiw   1. Xlhepiy 
B. kUJ rNfhjuh;fs;  2. jpUkak; 
C. moFKj;Jf; Nfhd;  3. fhisahh; Nfhtpy; 
D. jPud; rpd;dkiy  4. fl;lhyq;Fsk; 

A B C D 
a. 3 2 4 1 
b. 2 3 4 1 
c. 4 1 2 3 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
 

14. To what does Valluvar compare the cultivators in protecting the world (people)? 
a. Like a ladder    b. God    c. Friend 
d. Like a rivet to the chariot  e. Answer not known 
coTj; njhopy; nra;fpd;wth;fs; cyf kf;fisf; fhg;gjpy; vijg; Nghd;wtuhf 
ts;Sth; fUJfpwhh;? 
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a. Vzp Nghd;wtuhf    b. caph;fisf; fhf;Fk; flTshf 
c. caph; ez;guhf    d. NjUf;F mr;rhzp Nghd;wth; 
e. tpil njhpatpy;iy 
 

15. Identify the translator who received Sahitya Akademic Award for his Akni Shatshi 
translated version in tamil from the original malayala “Akni Shatchi”. 
a. Mu. Ku. Jagannatharaja    b. Thamizh Naadan  
c. Sirpi Balasubramanian    d. Neela Padmanabhan 
e. Answer not known 
kiyahs nkhopapy; ,aw;wg;gl;l ‘mf;dpfhl;rp’ vd;w E}iyj; jkpopd; ‘mf;dprhl;rp’ 
vd;w ngahpy; nkhopngah;j;jjw;fhf rhfpj;a mfhnjkp ghpR ngw;wth;. 
a. K.F. [fe;ehjuh[h     b. jkpo;ehld; 
c. rpw;gp ghyRg;ukzpak;     d. ePygj;kehgd; 
e. tpil njhpatpy;iy 
 

16. Find out Mu. Vaa’s book, which was awarded Sahitya Akademic Award. 
a. Vaadaa Malar   b. Kayamai   c. Kariththundu 
d. Akal Vilakku   e. Answer not known 
K.t. tpd; rhfpj;jpa mfhlkp tpUJ ngw;w E}y; vJ? 
a. thlhkyh;   b. faik   c. fhpj;Jz;L 
d. mfy; tpsf;F   e. tpil njhpatpy;iy 
 

17. Which one of the statement is incorrect regarding the Neolithic culture? 
(i) They engaged in hunting, fishing and domestication of animals. 
(ii) Their houses were mostly in square shape with conical roofs. 
(iii) The Neolithic women wears beads as a ornaments. 
(iv) The important craft of the period was pottery making. 
a. (i) is correct (ii), (iii), (iv) is incorrect 
b. (i) and (ii) are correct (iii) and (iv) are incorrect. 
c. (i), (ii), (iii) are correct (iv) only incorrect 
d. (i), (iii) and (iv) are correct (ii) only incorrect 
e. Answer not known 
gpd;tUtdtw;wpy; Gjpa fw;fhyk; Fwpj;J jtwhd $w;W vJ? 
(i) Gjpa fw;fhy kdpjh;fs; Ntl;ilahLjy;> kPd;gpbj;jy; fhy;eil tsh;g;G 

njhopypy; <Lgl;ldh;. 
(ii) Gjpa fw;fhy kdpjh;fspd; tPLfs; rJu tbtpYk;> $iu $k;G tbtpYk; 

mike;jpUe;jJ. 
(iii) Gjpa fw;fhy ngz;fs; kzpfis Mguzq;fshf mzpe;jpUe;jdh;. 
(iv) ghid tidjy; Gjpa fw;fhy kdpjh;fspd; ifj;njhopyhf ,Ue;jJ. 
a. (i) rhp (ii), (iii), (iv) jtwhdJ. 
b. (i), (ii) rhp (iii), (iv) jtwhdJ 
c. (i), (ii), (iii) rhpahdJ (iv) kl;Lk; jtwhdJ 
d. (i), (iii), (iv) kl;Lk; rhpahdJ (ii) jtwhdJ 
e. tpil njhpatpy;iy 

 
18. Who is called as “Thambiran Thozhar”? 

a. Navukkarasan  b. Gnanasambandar  c. Sundarar 
d. Manickavasakar  e. Answer not known 
“jk;gpuhd; Njhoh;” vdg; Nghw;wg;gLgth; ahh;? 
a. ehTf;furh;   b. Qhdrk;ge;jh;  c. Re;juh; 
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d. khzpf;fthrfh;  e. tpil njhpatpy;iy 
 

19. Who is the author of Kumbesar Kuravanji? 
a. Kumara Kuruparar    b. Sivakkolunthu Desikar 
c. Papanasa Mudaliyar    d. Vedanayaka Sastri 
e. Answer not known 
Fk;Ngrh; FwtQ;rpiag; ghbath; 
a. FkuFUguh;     b. rptf;nfhOe;J Njrpfh;  
c. ghgehr Kjypahh;    d. Ntjehaf rh];jphpahh; 
e. tpil njhpatpy;iy 
 

20. A book that has no poems written by Poetess is 
a. Ainkurunooru  b. Kurunthogai  c. Natrinai 
d. Agananooru   e. Answer not known 
ngz;ghw; Gyth;fspd; ghly;fs; ,lk;ngwhj E}y; 
a. Iq;FWE}W   b. FWe;njhif  c. ew;wpiz 
d. mfehD}W   e. tpil njhpatpy;iy 
 

21. Pirappu or anna udan vaiitru ullun 
Sirappin paalaal, thayum manam thiriyum 
What truth does this purananootry song say? 
a. Affection   b. Education    c. Wealth 
d. Courage   e. Answer not known 
“gpwg;G Xh; md;d cld; tapw;W cs;Sk;> 
rpwg;gpd; ghyhy;> jhAk; kdk; jphpAk;” –  
vDk; GwehD}w;Wg; ghly; czh;j;Jk; fUj;J ahJ? 
a. ghrk;    b. fy;tp    c. nry;tk; 
d. tPuk;    e. tpil njhpatpy;iy 
 

22. Roman Factory was excavated in 
a. Arikamedu   b. Adichchanalur   c. Keeladi 
d. Poompuhar   e. Answer not known 
Nuhkhdpa njhopw;rhiy fz;nlLf;fg;gl;l ,lk; 
a. mhpf;fNkL   b. Mjpr;rey;Y}h;   c. fPob 
d. G+k;Gfhh;   e. tpil njhpatpy;iy 
 

23. Name the class of Shaivite ascetics who led a vigorous and austen life mentioned in 
Manimekalai. 
a. Sankhya   b. Kapalikas    c. Vaiseshika 
d. Ajivikas   e. Answer not known 
ve;j mjpjPtpu itjPf eltbf;iffspy; <Lgl;l irt Kdpfspd; ngah; kzpNkfiyapy; 
Fwpg;gplg;gl;Ls;sJ? 
a. rq;fpah;    b. fhghypfh;    c. itNr~pfh; 
d. m[;tpf;fh   e. tpil njhpatpy;iy 
 

24. Select the following steps taken by TN government to attract FDI: 
(i) High level committee headed by the Chief Secretary. 
(ii) Exclusive counters in the TN Industrial Guidance Bureau. 
(iii) Single window clearance system. 
(iv) A High – Tech Committee under the Chairmanship of the CM. 
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a. (i) and (ii)   b. (ii) and (iv)  c. (i), (ii) and (iii)  
d. (i), (ii), (iii) and (iv)  e. Answer not known 
md;dpa Neub KjyPl;il <h;f;f jkpo;ehL muR vLj;Js;s gpd;tUk; eltbf;iffisj; 
Njh;e;njLf;fTk; 
(i) jiyikr; nrayhsh; jiyikapy; xU cah;kl;lf;FO. 
(ii) jkpof njhopy; topfhl;L ikaj;jpy; gpuj;Naf gphpTfs; 
(iii) xw;iwr; rhsu mDkjp Kiw 
(iv) Kjy;thpd; jiyikapyhd xU cah;kl;lf;FO 
a. (i) kw;Wk; (ii)   b. (ii) kw;Wk; (iv)  c. (i), (ii) kw;Wk; (iii) 
d. (i), (ii), (iii) kw;Wk; (iv)  e. tpil njhpatpy;iy 

 
25. Tamilnadu power supply requirements are met by thermal, hydro electric, nuclear 

power plants match the following: 
A. Thermal   1. Kalapakkam, Kudamkulam 
B. Hydro    2. Kayathar 
C. Nuclear   3. Maravakandy, Lower Mettur Nellithorai 
D. Wind/Energy  4. Tuticorin, Mettur 
 A B C D 
a. 4 3 1 2 
b. 2 4 3 1 
c. 1 2 4 3 
d.  3 2 1 4 
e. Answer not known 
jkpo;ehl;L kpd;rf;jp toq;fy; Njitfs; mdy;> Gdy;> mZ ciyfs; %ykhf 
fpilf;fpwJ. gpd;tUgitfis nghUj;Jf. 
A. mdy;    1. fy;ghf;fk;> $lq;Fsk; 
B. Gdy;    2. faj;jhh; 
C. mZciy   3. kutf;fz;b> fPo;Nkl;Lh; ney;ypJiw 
D. fhw;whiy Mw;wy;  4. J}j;Jf;Fb> Nkl;^h; 

A B C D 
a. 4 3 1 2 
b. 2 4 3 1 
c. 1 2 4 3 
d.  3 2 1 4 
e. tpil njhpatpy;iy 
 

26. The “Kavalan” App is an initiative of the Tamil Nadu Police. The main target group is 
a. Men    b. Women   c. Children 
d. Parents    e. Answer not known 
“fhtyd;” nrayp jkpof fhty; Jiwapd; Kd; Kaw;rp. ,jd; Kf;fpa ,yf;F 
FOthdJ 
a. Mz;fs;   b. ngz;fs;   c. Foe;ijfs; 
d. ngw;Nwhh;fs;   e. tpil njhpatpy;iy 
 

27. Whose government introduced free electricity scheme for farmers? 
a. M.G.R    b. C.N. Annadurai   c. M. Karunanidhi 

d. None of the above  e. Answer not known 
coth;fSf;F ,ytr kpd;rhuk; toq;Fk; jpl;lj;ij mky;gLj;jpaJ ahUila muR? 
a. vk;.[p.Mh;   b. rp.vd;. mz;zhJiu  c. K. fUzhepjp 
d. ,jpy; VJk; fpilahJ e. tpil njhpatpy;iy 
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28. Patterns of unequal access to social resources are commonly called 

a. Social inequality  b. Economic inequality  c. Social equality 
d. Economic equality  e. Answer not known 
r%f tsq;fis rkkw;w tbtq;fshf gfph;tJ nghJthf vt;thW miof;fg;gLfpwJ? 
a. r%f rkj;Jtkpd;ik    b. nghUshjhu rkj;Jtkpd;ik 
c. r%f rkj;Jtk;    d. nghUshjhu rkj;Jtk; 
e. tpil njhpatpy;iy 
 

29. Consider the following statements: 
(1) The self-respect movement was a social protest against the dominant caste who 

were in higher positions. 
(2) The self-respect movement was more interested in social freedom rather than in 

winning political independence. 
Which of the statements given above is correct? 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
gpd;tUk; $w;Wf;fis ftdpf;f: 
(1) Rakhpahij ,af;fk; vd;gJ Kf;fpa gjtpfspy; ,Ue;j cah; rhjpf;F vjpuhd 

r%f Nghuhl;lk;. 
(2) Rakhpahij ,af;fk; murpay; Rje;jpuj;ij ngWtj tpl r%f Rje;jpuj;jpNy mjpf 

<LghL nfhz;bUe;jJ. 
Nkw;fz;l $w;Wf;fspy; vJ rhpahdJ? 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. (1) kw;Wk; (2) ,uz;LNk 
d. (1)-k; my;y (2)-k; my;y e. tpil njhpatpy;iy 
 

30. The DANIDA – TNAHCP initiative of Tamil Nadu is related to which among the 
following sectors. 
a. Health    b. Infrastructure  c. Industry 
c. Education   e. Answer not known 
gpd;tUk; Jiwfspy; _____y; DANIDA – TNAHCP jkpo;ehl;bd; Kaw;rpahFk;. 
a. MNuhf;fpak;   b. cs;fl;likg;G  c. njhopy; 
d. fy;tp    e. tpil njhpatpy;iy 
 

31. Mahatma Gandhi community colleges have been opened in Tamil Nadu in which 
among the following? 
a. Districts with lowest education ratio 
b. District with highest population of SC & ST 
c. Prisons for vocational training of prisoners 
d. Small Villages 
e. Answer not known 
gpd;tUtdtw;wpy; vjw;fhf kfhj;kh fhe;jpapd; rKjhaf; fy;Y}hp jkpo;ehl;by; 
njhlq;fg;gl;lJ. 
a. kpff;Fiwe;j fy;tp tPjq;fs; nfhz;l khtl;lq;fs; 
b. kpf mjpfkhd jho;j;jg;gl;l kw;Wk; goq;Fb kiytho; kf;fs; (SC & ST) nfhz;l 

khtl;lq;fs; 
c. rpiw ifjpfSf;F rpiwapy; njhopw; gapw;rp mspj;jy; 
d. rpwpa fpuhkq;fs; 
e. tpil njhpatpy;iy 
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32. Match List I (Types of Investment) with List II (Nature of Investment) and select the 
correct answer using the code given below the Lists: 
List I     List II 
A. Direct Foreign Investment  1. Purchase of the country’s stocks, bonds and 

        currencies by foreigners. 
B. Foreign Portfolio Investment 2. Investments in product assets of the country 

        by foreigners. 
C. Commercial loans   3. Raising loans from foreign financial 

        institutions. 
D. Foreign institutional assistance 4. Provision of financial assistance by a foreign 

        institution. 
 A B C D 
a. 4 1 3 2 
b. 2 3 1 4 
c. 2 1 3 4 
d. 4 3 1 2 
e. Answer not known 
gpd;tUk; ml;ltizf; FwpaPLfspypUe;j rhpahd tpilapid ml;ltiz-I-ypUe;J 
(KjyPl;L tiffs;) ml;ltiz-II-cld; (KjyPl;L ,ay;Gfs;) nghUj;Jf. 
ml;ltiz – I     ml;ltiz – II 
A. Neub ntspehl;L KjyPL (FDI)  1. ehl;bd; gq;Ffs;> gj;jpuq;fs; kw;Wk; 
        gzk; ,itfis ntspehl;lth;fs; 
        nfhs;Kjy; nra;jy; 
B. ntspehl;L Jiw rhh;e;j KjyPL  2. ntspehl;L %yjdj;jpdhy; ehl;bd; 
        cw;gj;jp nrhj;Jf;fis cUthf;fy; 
C. tzpff; fld;fs;    3. ntspehl;L epjp epWtdq;fspypUe;J 
        fld; cUthf;fy; 
D. ntspehl;L epWtd cjtpfs;  4. ntspehl;L epWtdq;fs; epjp cjtp 
        mspj;jy;  

A B C D 
a. 4 1 3 2 
b. 2 3 1 4 
c. 2 1 3 4 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

33. Tamilnadu has the largest capacity for _____ among all Indian States. 
a. Sugar    b. Cement   c. Renewable energy 
d. Fertilizers   e. Answer not known 
,e;jpa khepyq;fspNyNa jkpo;ehL kpfg;nghpa jpwd; _____y; nfhz;Ls;sJ. 
a. rh;f;fiu   b. rpnkz;l;   c. GJg;gpf;fjf;f Mw;wy; 
d. cuk;    e. tpil njhpatpy;iy 
 

34. A principal becomes Rs. 10,050 at the rate of 10% in 5 years. Find the principal. 
a. Rs. 7,000   b. Rs. 6,500   c. Rs. 6,700 
d. Rs. 6,900   e. Answer not known 
Xh; mry; Mz;Lf;F 10% tl;b tPjj;jpy; 5 Mz;Lfspy; &. 10>050 Mf cah;e;jJ 
vdpy; mry; vt;tsT? 
a. &. 7>000   b. &. 6>500   c. 6>700 
d. &. 6>900   e. tpil njhpatpy;iy  
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35. The value of a Motor Cycle 2 years ago was Rs. 70,000. It depreciates at the rate of 4% 

p.a. Find the present value. 
a. Rs. 64,000   b. Rs. 64,512   c. Rs. 65,512 
d. Rs. 64,412   e. Answer not known 
Xh; ,U rf;fu thfdj;jpd; tpiy 2 Mz;LfSf;F Kd;G &. 70>000 Mf ,Ue;jJ. 
mjd; kjpg;G Mz;LNjhWk; 4% tPjk; FiwfpwJ vdpy;> mjd; jw;Nghija kjpg;igf; 
fhz;f. 
a. &. 64>000   b. &. 64>512   c. &. 65>512 
d. &. 64>412   e. tpil njhpatpy;iy 
 

36. What is the relation between c and d in c = kd, (k constant)? 
a. Direct proportion  b. Inverse proportion c. Equal proportion 
d. Unequal proportion  e. Answer not known 
c = kd vd;gjpy; c f;Fk; d f;Fk; ,ilNaahd cwT vd;d? (,q;F k khwpyp) 
a. Neh; tpfpjk;   b. vjph; tpfpjk;  c. rk tpfpjk; 
d. rkkw;w tpfpjk;  e. tpil njhpatpy;iy 
 

37. If 1 + 2 + 3 + …… + n = 666. Then find n. 
a. -37  b. -36  c. 37  d. 36  e. Answer not known 
1 + 2 + 3 + …… + n = 666 vdpy; n-apd; kjpg;G 
a. -37  b. -36  c. 37  d. 36  e. tpil njhpatpy;iy 
 

38. Find the sum of the series. 
1 + 3 + 5 + ….. to 25 terms. 
a. 325  b. 450  c. 575  d. 625  e. Answer not known 
1 + 3 + 5 + ….. to 25 cWg;Gfs; tiu $Ljy; fhz;f. 
a. 325  b. 450  c. 575  d. 625  e. tpil njhpatpy;iy 
 

39. Find out the next number in the following: 
5, 11, 23, 47, 95, _____ 
a. 191  b. 171  c. 123  d. 106  e. Answer not known 
5, 11, 23, 47, 95, _____ 
mLj;J tUk; vz; fhzTk;. 
a. 191  b. 171  c. 123  d. 106  e. tpil njhpatpy;iy 
 

40. 
2

3
,
5

9
,
8

27
,
11

81
,
14

243
,    ?___ 

a. 
42

329
       b. 

17

129
  c. 

𝟏𝟕

𝟕𝟐𝟗
  d. 

17

243
  e. Answer not known 

2

3
,
5

9
,
8

27
,
11

81
,
14

243
,    ?___ 

a. 
42

329
       b. 

17

129
  c. 

𝟏𝟕

𝟕𝟐𝟗
  d. 

17

243
  e. tpil njhpatpy;iy  

 
41. Mohan gets 3 marks for each correct answer and loses 2 marks for each wrong 

answers. He attempts 30 questions and obtain 40 marks. Find the number of problems 
solved correctly. 
a. 10  b. 15  c. 20  d. 25  e. Answer not known 
Nkhfd; vd;gth; xt;nthU rhpahd gjpYf;F 3 kjpg;ngz;fis ngWfpwhh;> jtwhd 
gjpYf;F 2 kjpg;ngz;fis ,of;fpwhh; mth; 30 tpdhf;fSf;F tpilaspj;J 40 
kjpg;ngz;fis ngw;whh; vdpy; rhpahf gjpy; mspj;j tpdhf;fspd; vz;zpf;ifia 
fhz;f. 
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a. 10  b. 15  c. 20  d. 25  e. tpil njhpatpy;iy 
 

42. 42 : 56 : : 110 : ? 
a. 180  b. 132  c. 136  d. 140  e. Answer not known 
42 : 56 : : 110 : ? 
a. 180  b. 132  c. 136  d. 140  e. tpil njhpatpy;iy  
 

43. A alone can do a work in 10 days and B alone in 15 days. They undertook the work for 
Rs. 2,00,000. The amount that A will get is 
a. Rs. 1,00,000  b. Rs. 1,20,000  c. Rs. 1,50,000 
d. Rs. 1,02,000  e. Answer not known 
A vd;gth; jdpNa xU Ntiyia 10 ehl;fspYk; B Mdth; jdpNa 15 ehl;fspYk; 

Kbg;gh;. mth;fs; ,e;j Ntiyia &. 2>00>000 njhiff;F xg;Gf;nfhz;ldh; vdpy;> A 
ngWk; njhif _____ MFk;. 
a. &. 1>00>000  b. &. 1>20>000    c. &. 1>50>000 
d. &. 1>02>000  e. tpil njhpatpy;iy 
 

44. P alone can do 
1

2
 of a work in 6 days and Q alone can do 

2

3
 of the same work in 4 days. 

In how many days working together, will they finish 
3

4
 of the work? 

a. 2 days    b. 3 days   c. 4 days 
d. 5 days    e. Answer not known 

P vd;gth; jdpNa xU Ntiyapd; 
1

2
  gFjpia 6 ehl;fspYk;> Q vd;gth; jdpNa mNj 

Ntiyapd; 
2

3
  gFjpia 4 ehl;fspYk; Kbg;gh;. ,UtUk; ,ize;J me;j Ntiyapd; 

3

4
 

gFjpia vj;jid ehl;fspy; Kbg;gh;? 
a. 2 ehl;fs;   b. 3 ehl;fs;   c. 4 ehl;fs; 
d. 5 ehl;fs;   e. tpil njhpatpy;iy 
 

45. A cone of height 18 cm is made up of modeling clay. A child reshapes it in the form of 
a cylinder of same radius as cone. Then the height of the cylinder is 
a. 8 cm  b. 6 cm c. 3 cm d. 18 cm e. Answer not known 
fspkz; nfhz;L nra;ag;gl;l 18 nr.kP cauKs;s xU $k;ig xU Foe;ij mNj 
MuKs;s Xh; cUisahf khw;WfpwJ vdpy; cUisapd; cauk; fhz;f. 
a. 8 nr.kP  b. 6 nr.kP c. 3 nr.kP d. 18 nr.kP e. tpil njhpatpy;iy 
 

46. The perimeter of a triangular plot is 360 m. The ratio of their sides is 3 : 4 : 5. Then the 
area of the plot is ____ m2. 
a. 30 m2  b. 180 m2 c. 3600 m2 d. 5400 m2 e. Answer not known 
xU Kf;Nfhz tbtpyhd kidapd; Rw;wsT 360 kP mjd; gf;fq;fs; 3 : 4 : 5 vd;w 
tpfpjj;jpy; cs;sd vdpy; me;j kidapd; gug;gsT ____ kP2. 
a. 30 kP2   b. 180 kP2   c. 3600 kP2   
d. 5400 kP2   e. tpil njhpatpy;iy 
 

47. The population of a city was 24,000 in the year 1997. It increased at the rate of 5% per 
annum. Find the population at the end of the year 2000. 
a. 27873    b. 27783   c. 28773 
d. 28737    e. Answer not known 
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xU efuj;jpd; kf;fs; njhif 1997 Mk; Mz;L 24>000. Mz;Lf;F 5% tPjk; kf;fs; 
njhif mjpfhpj;jhy; 2000-k; Mz;L ,Wjpapy; me;j efuj;jpd; kf;fs; njhif 
vt;tsT? 
a. 27873    b. 27783   c. 28773 
d. 28737    e. tpil njhpatpy;iy  
 

48. A sum of money becomes eight times at compound interest in 45 years, the number of 
years required to have it doubled is 
a. 11 ¼ years   b. 10 years   c. 15 years 

d. 25 years   e. Answer not known 
xU njhif $l;Ltl;bapy; 45 tUlq;fspy; 8 klq;F Mfpd;wJ vdpy; vj;jid 
tUlq;fspy; ,U klq;F MFk;. 
a. 11 ¼tUlq;fs;  b. 10 tUlq;fs;   c. 15 tUlq;fs; 
d. 25 tUlq;fs;   e. tpil njhpatpy;iy 
 

49. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is 
Rs. 750. Find the principal. 
a. Rs. 3,350   b. Rs. 3,450   c. Rs. 3,550 
d. Rs. 3,750   e. Answer not known 
FkuNty; xU Fwpg;gpl;lj; njhiff;F 10% tl;b tPjk; 2 Mz;Lfs; fopj;J &. 750 ia 
jdp tl;bahfr; nrYj;jpdhy; mriyf; fhz;f. 
a. &. 3>350   b. 3>450   c. &. 3>550 
d. &. 3>750   e. tpil njhpatpy;iy 
 

50. In what time will Rs. 5,600 amount to Rs. 6,720 on S.I. at 6% per annum? 

a. 3 ¼ years   b. 3 ½ years   c. 3 
𝟏

𝟑
   years 

d. 3 
1

5
  years   e. Answer not known 

vj;jid Mz;Lfspy; &. 5>600 Mz;Lf;F 6% jdptl;b tPjj;jpy; &. 6>720 Mf 
caUk;? 

a. 3 ¼ Mz;Lfs;   b. 3 ½ Mz;Lfs;   c. 3 
𝟏

𝟑
   Mz;Lfs; 

d. 3 
1

5
  Mz;Lfs;   e. tpil njhpatpy;iy 

 
51. A number 42 is divided into 2 parts in the ratio 3 : 4 Find the number which is sum of 

the squares of the two parts. 
a. 1000 b. 900  c. 600    d. 500  e. Answer not Known 
xU vz; 42 MdJ 3 : 4 vd;w tpfpjj;jpy; ,uz;L ghfq;fshfg; ghpf;fg;gLfpwJ. me;j 
,U ghfq;fspd; th;f;fq;fspd; $Ljy; fhz;f. 
a. 1000 b. 900  c. 600    d. 500  e.  tpil njhpatpy;iy 

 
52. If A : B = 8 : 15, B : C = 5 : 8 and C : D = 4 : 5, then what is A : D? 

a. 8 : 5  b. 4 : 8  c. 8 : 15  d. 4 : 15 e. Answer not Known 
A : B = 8 : 15, B : C = 5 : 8  vdpy; C : D = 4 : 5 vd;d? 
a. 8 : 5  b. 4 : 8  c. 8 : 15 d. 4 : 15 e.  tpil njhpatpy;iy 

 
53. If AT = 20 and BAT = 40 then CAT = ___________ 

a. 30  b. 50  c. 60  c. 70  e. Answer not Known 
AT = 20 vd;Wk; BAT = 40  vd;Wk; Fwpf;fg;gl;lhy; CAT vt;thW Fwpf;fg;gLk;? 
a. 30  b. 50  c. 60  c. 70  e.  tpil njhpatpy;iy 
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54. How many numbers between 400 and 500 are exactly divisible by 12, 15 and 20? 
a. One  b. Two c. Three  c. Four e. Answer not Known 
400 f;Fk; 500 f;Fk; ,ilapy; 12> 15 kw;Wk; 20 Mfpa vz;fshy; tFglf; $ba 
vz;fs; vj;jid cs;sd 

  a. xd;W b. ,uz;L c. %d;W c. ehd;F e.  tpil njhpatpy;iy 
 

55. Find HCF of 3 3 2 2 4 4
, ,x y x y x y− − −  

a. ( x y− )   b. ( 2 2
x y− )   c. ( 3 3

x y− ) 

d. ( 4 4
x y− )  e. Answer not Known 

kP.ngh.t fhz;f: 3 3 2 2 4 4
, ,x y x y x y− − −  

a. ( x y− )   b. ( 2 2
x y− )   c. ( 3 3

x y− ) 

d. ( 4 4
x y− )  e.  tpil njhpatpy;iy 

 
56. Find the ratio of the HCF and LCM of the numbers 18 and 30 

a. 3 : 5   b. 1 : 15   c. 15 : 1 
d. 5 : 3   e. Answer not Known 
18 kw;Wk; 30 vd;w vz;zpy; kP.ngh.fh. kw;Wk; kP.rp.k ,tw;wpd; tpfpjk; fhz;f 
a. 3 : 5   b. 1 : 15   c. 15 : 1 
d. 5 : 3   e.  tpil njhpatpy;iy 

 
57. When 40 is subtracted from 40% of a number to give 40, the number is  

a. 60    b. 100    c. 150 
d. 200    e. Answer not Known 
Xh; vz;zpd; 40% ypUe;J 40 If; fopj;jhy; 40 fpilf;Fk; vdpy;> me;j vz; 
__________ MFk;. 
a. 60    b. 100    c. 150 
d. 200   e.  tpil njhpatpy;iy 

 
58. The Price of a rain coat was slashed from Rs. 1060 to Rs. 901 by a shopkeeper in the 

winter season to boost the sales. Find the rate of discount given by him: 
a. 10%  b. 25%  c. 30%   c. 15%  e. Answer not Known 
kiof; fhyj;jpd; NghJ tpw;gidia mjpfhpf;f filf;fhuh; xUth; xU kior; 
rl;ilapd; tpiyia Rs. 1060 ,ypUe;J Rs. 901 Mff; Fiwe;jhh; vdpy;> mth; 
toq;fpa js;Sgb rjtPjj;ijf; fhz;f. 
a. 10%  b. 25%  c. 30%  c. 15%  e.  tpil njhpatpy;iy 

 
59. Choose which districts in Tamil Nadu are the first to implement the ‘One Country 

One Ration Card’ Scheme: 
i. Chennai   
ii. Tirunelveli    
iii. Tuticorin 
iv. Coimbatore    
a. (i) and (iv) only  b. (ii) and (iv) only  c. (i) and (ii) only 
d. (ii) and (iii) only  e. Answer not Known 
(i) nrd;id  
(ii) jpUney;Ntyp 
(iii) J}j;Jf;Fb 
(iv) Nfhak;Gj;J}h; 
a. (i) kw;Wk; (iv) kl;Lk;   b. (ii) kw;Wk; (iv) kl;Lk;   
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c. (i) kw;Wk; (ii) kl;Lk;   d. (ii) kw;Wk; (iii) kl;Lk; 
e.  tpil njhpatpy;iy 

 
60. Pre – budget economic survey is authored by a team led by 

a. Speaker    b. Finance Minister (Union)    
c. Chief Economic Advisor  d. RBI Governor 
e. Answer not Known 
gl;n[;l; ntspaPl;bw;F Kd; nghUshjhu Ma;T ,th; jiyikapy; cs;s FOthy; 
elj;jg;gLk; 
a. rgh ehafh;     b. A+dpad; epjp mikr;rh;  
c. Kjd;ikg; nghUshjhu MNyhrfh;  d. RBI fth;dh; 
e.  tpil njhpatpy;iy 

  
61. In Magnetic Resonance Imaging (MRI), _________ wire is used to produce strong 

magnetic field. 
a. Conducting   b. Insulating   c. Super conducting 
d. Semi conduction  e. Answer not Known 
fhe;j xj;jjph;T gpk;gkhf;fypy; (MRI)> typikahd fhe;jg;Gyj;ij cUthf;Ftjw;F 
__________ thpr;RUs; gad;gLj;jg;gLfpwJ. 
a. flj;Jk;   b. flj;jh   c. kPf;flj;Jk; 
d. Fiw flj;Jk;   e.  tpil njhpatpy;iy 

 
62. Choose the right answers: 

Which of the following statements are correct about MKSP; Mahila Kisan 
Sashaktikaran Pariyojana? 
1. It was initiated in the year 2019 
2. To empower women by making a systematic investment 
3. To involve women in the sports activities 
4. To ensure food and nutrition security at household 
a. 2 and 4 are correct b. 2 and 3 are correct  c. 1 and 2 are correct 
d. 3 and 4 are correct e. Answer not Known 
k`pyh fprhd; rrf;jpfud; ghpNah[dh (MKSP) jpl;lk; gw;wpa fPo;;f;fz;l $w;Wfspy; 
vit rhpahdit. 
1. ,j;jpl;lk; 2019k; Mz;L njhlq;fg;gl;lJ 
2. Kiwahd KjyPLfisr; nra;J ngz;fSf;F mjpfhuk; mspf;f Ntz;Lk; 
3. ngz;fis tpisahl;by; <LghL nfhs;sr; nra;jy; 
4. tPl;by; czT kw;Wk; Cl;lr;rj;J ghJfhg;ig cWjpnra;jy;. 
a. 2 kw;Wk; 4 rhp  b. 2 kw;Wk; 3 rhp  c. 1 kw;Wk; 2 rhp 
d. 3 kw;Wk; 4 rhp  e.  tpil njhpatpy;iy 

 
63. The report released by U.S based Health Effects Institute, Air Quality and health in 

more than 7000 cities, Delhi is ranked first for 
a. PM 2.5   b. NO2    c. SO2 
d. CO2   e. Answer not Known 
mnkhpf;fhitr; Nrh;e;j n`y;j; v/ntf;l;]; ,d;];l;bbA+l;> fhw;wpd; juk; kw;Wk; 
MNuhf;fpak; Mfpatw;iw 7000f;Fk; Nkw;gl;l efuq;fspy; Ma;T nra;jjpy; by;yp 
Kjyplj;jpy; __________ cs;sJ. 
a. PM 2.5   b. NO2    c. SO2 
d. CO2   e.  tpil njhpatpy;iy 

 
64. Which of the following statements are true about women empowerment? 
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(i) Pradhan Mantri MUDRA Yojana and stand – up India Scheme are supporting 
steps for women community. 

(ii) Agriculture and rural development initiatives and the recently announced 
Pradhan Mantri Krishi Sinchayee Yojana. 

(iii) UJJAWALA scheme, one stop centre and gender budgeting implemented by 
the Ministry of women and child development. 

a. (i) only    b. (i) and (iii) only  c. (i) and (ii) only 
d. (ii) and (iii) only  e. Answer not Known 
ngz;fs; Nkk;ghL gw;wp gpd;tUk; $w;Wfspy; vJ cz;ik? 
(i) gpujk; ke;jphp Kj;uh Nah[dh kw;Wk; ];lhz;l; kpF ,e;jpah jpl;lk; Mfpait 

ngz;fs; r%fj;jpw;fhd eltbf;iffis Mjhpf;fpd;wd. 
(ii) tptrhak; kw;Wk; fpuhkg;Gw Nkk;ghL Kaw;rpfs; kw;Wk; rkPgj;jpy; mwptpf;fg;gl;l 

gpujhd; ke;jphp fphp~p rpQ;raP Nah[dh. 
(iii) ngz;fs; kw;Wk; Foe;ijfs; Nkk;ghl;L mikr;rfj;jhy; nray;gLj;jg;gLk; 

c[;;[thyh jpl;lq;fs; xU epWj;j ikak; kw;Wk; ghypd gl;n[l; 
a. (i) kl;Lk;    b. (i) kw;Wk; (iii) kl;Lk;   
c. (i) kw;Wk; (ii) kl;Lk;   d. (ii) kw;Wk; (iii) kl;Lk; 
e.  tpil njhpatpy;iy 

 
65. One of the Prominent Indian Scientist Birbal Sahni is considered as the father of 

a. Ethanobotany    b. Embryology  c. Paleobotany 
d. Tissue Culture  e. Answer not Known 
,e;jpahtpd; gpugy;akhd mwptpay; tpQ;Qhdp gPh;ghy; rh`pdp __________ je;ij 
vd;wiof;fg;gLfpwhh;. 
a. ,dj;jhtuaypd;   b. fUtpaypd;   c. njhy; jhtutpaypd;  
d. jpR tsh;g;gpd;   e.  tpil njhpatpy;iy 

 
66. Match the following languages spoken by the tribal community given in List A with 

the regions where they are spoken in List B: 
List A   List B 
A. Lamani  1. West Bengal 
B. Khotta  2. Karnataka 
C. Korage  3. Tamil Nadu 
D. Tulu  4. Kerala 

A B C D 
a.  3 4 1 2 
b.  4 3 2 1 
c. 2 3 4 1 
d. 3 1 4 2 
e. Answer not Known 
gl;bay; (m) tpy; nfhLf;fg;gl;Ls;s goq;Fbapdj;jh NgRk; nkhopfis gl;bay; (M) 
tpYs;s> mit Ngrg;gLk; gpuNjrq;fSld; xg;gpLf. 
gl;bay; (m)   gl;bay; (M) 
A. ykhdp   1. Nkw;F tq;fhsk; 
B. Nfhl;lh  2. fh;ehlfk; 
C. nfhuhfh  3. jkpo;ehL 
D. JY   4. Nfush 

A B C D 
a.  3 4 1 2 
b.  4 3 2 1 
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c. 2 3 4 1 
d. 3 1 4 2 
e.  tpil njhpatpy;iy 

 
67. The Airport Authority of India (AAI) constituted on 

a. 1st April 1965  b. 1st April 1975  c. 1st April 1985 
d. 1st April 1995  e. Answer not Known 
,e;jpa tpkhd epiyaq;fspd; Mizak; (AAI) vg;NghJ mikf;fg;gl;lJ? 
a. 1 Vg;uy; 1965  b. 1 Vg;uy; 1975  c. 1 Vg;uy; 1985 
d. 1 Vg;uy; 1995  e.  tpil njhpatpy;iy 

 
68. Rosewood grows in _______ forests. 

a. Monsoon forests b. Evergreen forests  c. Alpine forests 
d. Tidal forests  e. Answer not Known 
Nuh];Tl; tsuf;$ba fhLfs; 
a. gUtfhy; fhLfs;  b. gRikkhwhf; fhLfs;  c. My;igd; fhLfs; 
d. Xjf; fhLfs;  e.  tpil njhpatpy;iy 

 
69. Gersoppa waterfall is located in _______ river 

a. Tapti   b. Narmada   c. Sharavati 
d. Periyar   e. Answer not Known  
n[h;Nrhg;gh; ePh;tPo;r;rp mike;Js;s ejp 
a. jg;jp   b. eh;kjh   c. ruhtjp 
d. nghpahh;  e.  tpil njhpatpy;iy 

 
70. How is the Climate of India called? 

a. Arid Climate  b. Sub Polar Climate c.  Sub-Tropical Climate 
d. Temperate Climate e. Answer not Known 
,e;jpa fhyepiy vt;thW miof;fg;gLfpd;wJ? 
a. twz;l fhyepiy    b. Jiz Jut fhyepiy  
c. Jiz madkz;ly fhyepiy  d. kpjntg;g kz;ly fhyepiy 
e.  tpil njhpatpy;iy 

 
71. Tarafdars in Bahmani Sultanate refers to 

a. Provincial Governors  b. Prince  c. Commander 
d. Horsemen    e. Answer not Known 
ghkpdp Ry;jhdfj;jpy; ‘jhug;jhu;’ vd;gJ 
a. khfhz MSeh;fs;   b. ,sturh;   c. Nrdhgjp 
d. Fjpiu tPuh;fs;   e.  tpil njhpatpy;iy 

 
72. ‘Razmnama’ was a 

a. The Persian translation of Mahabharata. 
b. The Urdu translation of Upanishads. 
c. The Persian translation of Ramayana 
d. The Persian translation of Gita Govindam 
e. Answer not known 
‘u]k;ehkh’ vd;gJ 
a. k`hghujj;jpd; ghurPf nkhopngah;g;G 

b. cgepljq;fspd; cUJ nkhopngah;g;G 
c. ,uhkhazj;jpd; ghurPf nkhopngah;g;G 
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d. fPj Nfhtpe;jj;jpd; ghurPf nkhopngah;g;G 
e.  tpil njhpatpy;iy 

 
73. The well – known painting “Bani Thani” belongs to the  

a. Bundi Schools   b. Jaipur Schools   c. Kangra Schools 
d. Kishangarh Schools  e. Answer not Known 
ed;F mwpag;gl;l ‘ghzpjhzp’ Xtpaq;fSf;F nrhe;jf;fhuh;fs; 
a. gz;b gs;spfs;  b. n[a;G+h; gs;spfs;   c. fq;fuh gs;spfs; 
d. fp~d;fh; gs;spfs;  e.  tpil njhpatpy;iy 

 
74. ‘Kurram’ of Chola Period were 

a. Unions of Village  b. Brabminical educational centres c. Province 
d. Towns and township  e. Answer not Known 
Nrhoh;fspd; Ml;rpapy; $w;wk; vd;gJ 
a. gy fpuhkq;fs; nfhz;l njhFg;ghFk; b. gpuhkzh;fspd; fy;tp epiyaq;fs; 
c. khfhzk;     d. efuk; kw;Wk; efhpak; 
e.  tpil njhpatpy;iy 

   
75. Match the List I with List II and choose your answer from the codes given below: 

List I State   List II Capital 
A. Nizam Shahi  1. Golkonda 
B. Qutub Shahi  2. Bijapur 
C. Imam Shahi  3. Ahmednagr 
D. Adil Shahi  4. Berar 

A B C D 
a. 3 1 4 2 
b.  2 3 1 4 
c.  1 2 4 3 
d. 4 2 3 1 
e. Answer not Known  
nfhLf;fg;gl;l ml;ltiz I kw;Wk; ml;ltiz II nghUe;jp fPNo nfhLf;fg;gl;l 
FwpaPLfspy; (code)y; nghUj;Jf. 
ml;ltiz I – muR  ml;ltiz II – jiyefuk; 
A. ep[hk; rh`p   1. Nfhy;nfhz;lh 
B. FJg; rh`p   2. gp[g;G+h; 
C. ,khk; rh`p   3. mfkJ efh; 

D. mby; rh`p   4. gPuhh; 
A B C D 

a. 3 1 4 2 
b.  2 3 1 4 
c.  1 2 4 3 
d. 4 2 3 1 
e.  tpil njhpatpy;iy 
 

76. Which one of the following is NOT a mode of people’s participation in General 
Administration? 
a. System of Election   b. Political Apathy  c. System of Recall 
d. Pressure group   e. Answer not Known 
fPo;f;fhz;gdtw;Ws; nghJ eph;thf Kiwapy; kf;fspd; gq;Nfw;gpw;F cjthj topKiw 
vJ? 
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a. Njh;jy; Kiw    b. murpay; tpUg;gkpd;ik    
c. jpUk;g miof;Fk; Kiw  d. mOj;jf; FOf;fs; 
e.  tpil njhpatpy;iy 

 
77. Name the Iltutmish’s vizier who rebelled against Raziyya. 

a. Nizamul – mulk Junaydi b. Muhazzabuddin  c. Jamalud din Yaqut 
d. Altunia    e. Answer not Known 
urpah Ry;jhdhtpw;F vjpuhf Gul;rp nra;j ,y;Jj;kp~pd; gpuj mikr;ruhf ,Ue;jth; 
a. ep[hKy; Ky;f; [Pidjp b. K`h[g;Gj;jPd;   c. [khYj;jPd; ah$j; 
d. my;J}dpah   e.  tpil njhpatpy;iy 

 
78. Name the Indus Site where workmen’s quarters have been found. 

a. Harappa   b. Lothal   c. Kalibangan 
d. Chanhudaro   e. Answer not known 
gzpahsh; FbapUg;G fz;Lgpbf;fg;gl;l rpe;J rkntsp efuj;jpd; ngah; 
a. `ug;gh    b. Nyhjy;   c. fypgq;fd; 
d. rhd;FjhNuh   e.  tpil njhpatpy;iy 

 
79. With reference to devices of Parliamentary proceedings, which one of the following 

statement is correct? 
a. The first hour of every Parliamentary sitting is slotted for zero hour 
b. The purpose of priviledge motion is to censure the concerned minister. 
c. Calling attention motion is not mentioned in the rules of procedure. 
d. The Rajya Sabha can remove the ministry form office by passing a no-confidence 
motion  
ghuhSkd;w eltbf;iffspd; fUtpfis Nkw;Nfhshff; nfhz;L> gpd;tUk; $w;Wfspy; 
vJ rhpahdjhFk;? 
a. ghuhSkd;w mkh;tpd; Kjy; xU kzp Neuk; G+[;a Neukhf xJf;fg;gl;Ls;sJ. 
b. rpwg;Ghpik jPh;khdj;jpd; Nehf;fkhdJ Fwpg;gpl;l mikr;riu fz;ldk; nra;tjw;F 
c. ftd <h;g;G jPh;khdk; eilKiw tpjpfspy; Fwpg;gpltpy;iy 

d. ek;gpf;ifapy;yh jPh;khdj;jpd; %yk; khepyq;fsit mikr;ruitia fiyf;f 
KbAk; 
e.  tpil njhpatpy;iy 

 
80. Which Article of the Constitution of India Confers special leave petitions power to the 

Supreme Court? 
a. Art. 136   b. Art. 32   c. Art. 139 
d. Art. 226   e. Answer not Known 
gpd;tUk; ,e;jpa murpayikg;gpd; ve;j tpjp cr;rePjpkd;wj;jpw;F rpwg;G mDkjp  
kDtpid Vw;Fk; mjpfhuj;ij toq;Ffpd;wJ. 
a. tpjp 136   b. tpjp 32   c. tpjp 139 
d. tpjp 226   e.  tpil njhpatpy;iy 

 
81. In India, the ultimate sovereign power rests with 

a. Indian People   b. Prime Minister of India  c. President of India 
d. Elected leaders of India e. Answer not Known 
,e;jpahtpd; KOikahd ,iwahz;ik mjpfhuk; ngw;wpWg;gJ. 
a. ,e;jpa kf;fs;    b. ,e;jpa gpujkh;   
c. ,e;jpaFbauRj; jiyth;  d. Njh;e;njLf;fg;gl;l ,e;jpa jiyth;fs; 
e.  tpil njhpatpy;iy 
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82. The agency which conducts election to the local bodies is 

a. National Election Commission  b.  State Election Commission 
c. Local Bodies Themself   d.  The Government 
e. Answer not Known 
 cs;shl;rp mikg;GfSf;F Njh;jy; elj;Jk; mikg;G ____________ MFk;. 
a. Njrpa Njh;jy; Mizak;   b. khepy Njh;jy; Mizak; 
c. cs;shl;rp mikg;Gfs;   d. murhq;fk; 
e.  tpil njhpatpy;iy 

 
83. Match the following List I and List II. Choose the correct: 

List I    List II 
A. Indian Divorce Act  1. 1869 
B. The Hindu Marriage Act 2. 1955 
C. The Special Marriage Act 3. 1954 
D. The Foreign Marriage Act 4. 1969 

A B C D 
a.  4 3 2 1 
b. 3 4 1 2 
c. 2 1 4 3 
d. 1 2 3 4 
e. Answer not Known 
gpd;tUk; gl;bay; I & II nghUj;jp rhpahdtw;iw Njh;e;njLf;fTk; 
gl;bay; I    gl;bay; II 
A. ,e;jpa tpthfuj;J rl;lk; 1. 1869 
B. ,e;J jpUkz rl;lk;  2. 1955 
C. rpwg;G jpUkz rl;lk;  3. 1954 
D. ntspehLtho; jpUkz rl;lk; 4. 1969 

A B C D 
a.  4 3 2 1 
b. 3 4 1 2 
c. 2 1 4 3 
d. 1 2 3 4 
e.  tpil njhpatpy;iy 

 
84. Choose the correctly matched pair form the following: 

(i) Preamble   - Not part of the constitution 
(ii) Directive Principle  

of State Policy  - Duty of the State 
(iii) Fundamental Duties - Duty of the Parliament 
(iv) Fundamental Rights - Duty of the Citizen 
a. (i)  b. (ii)  c. (iii)  c. (iv)  e. Answer not Known 
fPo;fhZk; N[hbfspy; rhpahfg; nghUe;jp cs;sij Njh;e;njLf;fTk;: 
(i) KfTiu   - murpayikg;Gr; rl;lj;jpd; gFjpay;y 
(ii) murpd; newpKiwf; 

Nfhl;ghLfs;   - murpd; flik 
(iii) mbg;gilf; flikfs; - ghuhSkd;wj;jpd; flik 
(iv) mbg;gil chpikfs; - Fbkfdpd; flikfs; 
a. (i)  b. (ii)  c. (iii)  c. (iv)  e.  tpil njhpatpy;iy  
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85. In which of the following cases did Supreme Court of India limited the amending 

powers of the Parliament on fundamental rights? 
a. A.K. Gopalan’s case    b. M.C. Mehta’s case 
c. Keshvananda Bharati’s case  d. Golaknath case 
e. Answer not Known 
fPo;fz;l ve;j tof;fpy; cr;rePjpkd;wk;> mbg;gil chpikfs; kPjhd ehlhSkd;wj;jpd; 
rl;l jpUj;j mjpfhuj;ij tiuaWj;jJ? 
a. A.K. Nfhghyd; tof;F   b. M.C. Nkj;jh tof;F 
c. Nfrthde;j ghujp tof;F   d. Nfhyf;ehj; tof;F 
e.  tpil njhpatpy;iy 

 
86. In which of the following judgements, the Supreme Court declared that the Preamble 

to the Indian Constitution should be treated as part of the Indian Constititon? 
a. Beruberi case of 1960    b. Golak Nath case of 1967 
c. Kesavananda Bharati case of 1973  d. S.R. Bommai case of 1994 
e. Answer not Known 
fPo;f;fhZk; ve;j tof;fpd; jPh;g;gpd; cr;rePjpkd;wk; murpayikg;gpd; KfTiuia 
,e;jpa murpayikg;Gr; rl;lj;jpd; xU gFjpahf fUjNtz;Lk; vd jPh;g;gspj;jJ? 
a. ngUnghp tof;F 1960   b. Nfhyf; ehj; tof;F 1967 
c. Nfrthde;j ghujp tof;F 1973  d. v];.Mh;. nghk;ik tof;F 1994 
e.  tpil njhpatpy;iy 

 
87. The export and import policy was introduced in the year 

a. 1983 b. 1984  c. 1985  d. 1986 e. Answer not Known 
Vw;Wkjp ,wf;Fkjp nfhs;if cUthd Mz;L 
a. 1983 b. 1984  c. 1985  d. 1986 e.  tpil njhpatpy;iy 

 
88. PMRY means 

a. Prime Minister Rural Yojana  b. Prime Minister Regional Yojana 
c. Prime Minister Rashtriya Yojana  d. Prime Minister Rashtriya Yojana 
e. Answer not Known 
PMRY - vd;gJ vd;d? 
a. Prime Minister Rural Yojana  b. Prime Minister Regional Yojana 
c. Prime Minister Rashtriya Yojana  d. Prime Minister Rashtriya Yojana 
e.  tpil njhpatpy;iy 

 
89. Frictional Unemployment is the result of  

a. workers unwilling to accept the current wages 
b. voluntary employment transition within a economy 
c. workers are not willing to mobilise 
d. workers are in ignorance 
e. Answer not Known 
gpwo;r;rp Ntiyapd;ik vd;gJ ,jd; ntspg;ghL 
a. njhopyhsh;fs; jw;nghOJ cs;s $ypia Vw;Wf; nfhs;shj nghOJ 
b. xU ehl;bd; jd;dh;t Ntiyapd;ikapd; khw;wk; 
c. njhopyhsh;fs; ,lk;ngau tpUg;gk; ,y;yhj nghOJ. 
d. njhopyhsh;fs; mwpahikapy; ,Uf;Fk; nghOJ 

e. tpil njhpatpy;iy 
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90. _______ Constituted under Article 280 of the Constitution. 
a. Central Vigilance Commission  b.  Finance Commission 
c. National Commission for Women  d. Attorney General of India 
e. Answer not Known 
____________ murpayikg;gpd; 280tJ gphptpd; fPo; mikf;fg;gl;Ls;sJ. 
a. kj;jpa fz;fhzpg;G Mizak;  b. epjp Mizak; 
c. ngz;fSf;fhd Njrpa Mizak;  d. ,e;jpa muRj; jiyik tof;FiuQh; 
e.  tpil njhpatpy;iy. 

 
91. Defects of the Indian Money Market: 

1. Absence of Integration 
2. Diversity in Money Rates of Interest 
3. Absence of the Bill market 
a. 1 and 2   b. 1, 2 and 3   c. 1 and 3 
d. Neither 1 nor 2, 3  e. Answer not Known 
,e;jpag; gz mq;fhbapy; cs;s Fiwfs; 
1. xUq;fpizg;G ,d;ik 
2. gy;NtW tpjkhd gz tl;b tpjk; 
3. gpy; mq;fhb ,d;ik 
a. 1 kw;Wk; 2   b. 1> 2 kw;Wk; 3  c. 1 kw;Wk; 3 
d. 1 my;y 2> 3 my;y  e.  tpil njhpatpy;iy 

 
92. The credit of proposing the first blue print of Indian Planning is given to 

a. J.N. Nehru   b. Visvesvaraya  c. J.R.D. Tata 
d. Lala Sri Ram   e. Answer not Known 
,e;jpa jpl;lq;fspd; KjyhtJ nray; tbT jpl;lk; tbtikj;j ngUik ,tiu rhUk;. 
a. J.N. NeU   b. tp];Nt];tua;ah  c. J.R.D. lhlh 
d. yhyh =uhk;   e.  tpil njhpatpy;iy 

 
93. The first Industrial Policy announced in 

a. 1948 b. 1949 c. 1952  d. 1956  e. Answer not Known 
KjyhtJ njhopy; nfhs;if jPh;khdk; mwptpf;fg;gl;l Mz;L  
a. 1948 b. 1949 c. 1952  d. 1956  e.  tpil njhpatpy;iy 

 
94. The concept of “The Safety – Valve theory’ of Indian National Congress originated 

from 
a. W.C. Bonnerji  b. William Wedderburn  c. Lord Dufferin 
d. C. F Andrews  e. Answer not Known  
,e;jpa Njrpa fhq;fpu]pd; ‘ ghJfhg;G thy;T Nfhl;ghL’ vd;w fUj;J vq;fpUe;J 
cUthdJ? 
a. lgps;A+ rp. ghdh;[p  b. tpy;ypak; ntlh;gh;d; c. lg;hpd; gpuG    
d. rp. v/g; Mz;l;&];  e.  tpil njhpatpy;iy 

 
95. Who wrote these lines “The Peasants have to liberate themselves not only from 

foreign yoke but also from the yoke of landlords and capitalist”? 
a. Bhagat Singh   b. Rajguru   c. Sukhdev 
d. Suryasen   e. Answer not Known 
tptrhapfs; md;dpa Efj;jbapypUe;J kl;Lky;yhky;> epygpuGf;fs;> Kjyhspfs; 
MfpNahhpd; Efj;jbapypUe;J jq;fis tpLtpj;Jf; nfhs;s Ntz;Lnkd ____________ 
vOjpdhh; 
a. Rf;Njt;   b. uh[FU   c. Rf;Njt; 



 

21 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

d. #h;ahnrd;   e.  tpil njhpatpy;iy 
 

96. Match the following events: 
A. Vizah Revolution  1. 1929 – 1930 
B. Chauri Chaura   2. 1918 
C. Bardoli Satyagraha  3. 1923 
D. Satyagraha of Kaira  3. 1922 

A B C D 
a.  4 3 2 1 
b.  3 4 1 2 
c. 2 4 3 1 
d. 4 2 3 1 
e. Answer not known 
gpd;tUk; epfo;Tfis nghUj;Jf: 
a. itrhf; Gul;rp   1. 1929 – 1930 
b. nrshp nrsuh   2. 1918 
c. gh;Njhyp rj;ahfpufk;  3. 1923 
d. ifuh rj;ahfpufk;  4. 1922 

A B C D 
a.  4 3 2 1 
b.  3 4 1 2 
c. 2 4 3 1 
d. 4 2 3 1 
e.  tpil njhpatpy;iy 

 
97. “The story of My Experiments with Truth” is an autobiography of 

a. Mahatma Gandhi   b. Maulana Abul Kalam Azad 
c. Jawaharlal Nehru   d. Sir Sayyid Ahmed Khan 
e. Answer not Known 
“rj;jpaj;Jldhd vdJ Nrhjidfspd; fij”> ___________ d; Rarhpij. 
a. kfhj;kh fhe;jp   b. nksyhdh mGy; fyhk; Mrhj; 
c. [t`h;yhy; NeU   d. rh; irapj; mfkJ fhd; 
e.  tpil njhpatpy;iy 

 
98. E.V. Ramasamy Naicker after a trip to Soviet Union in 1932 built a ‘Stalin Hall’ in 

a. Cuddalore   b. Coimbatore  c. Erode 
d. Madurai   e. Answer not Known 
nghpahh; <.nt. uhkrhkp ehaf;fh; If;fpa u~;ah gazj;jpw;F gpwF 1932-y; ve;j 
,lj;jpy; ‘];lhypd; kz;lgj;ij’ fl;bdhh;. 
a. flY}h;    b. NfhaKj;J}h;  c. <NuhL 
d. kJiu    e.  tpil njhpatpy;iy 

  
99. Who was called by Valentine Chirol as the ‘Father of Indian Unrest’? 

a. Lala Lajpat Rai  b. Aurobindo Ghosh c. Bipin Chandra Pal 
d. Bal Gangadhar Tilak e. Answer not Known 
Ntyd;ild; rpNuhy; vd;gtuhy; ‘,e;jpah fpsh;r;rpapd; je;ij’ vd;W miof;fg;gl;lth; 
ahh;? 
a. yhyh y[gjp uha;  b. mutpe;j Nfh~;  c. gpgpd; re;jpu ghy; 
d. ghy fq;fhju jpyf;   e.  tpil njhpatpy;iy 
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100. The theme of the play ‘Neel Darpan’ is 
a. Plight of Plantation Workers  b. Plight of Fishermen 
c. Plight of the Merchants   d. Plight of the Soldiers 
e. Answer not Known 
‘ePy; jh;gd;’ vd;w ehlfj;jpd; fUnghUs; vd;d? 
a. Njhl;l njhopyhsh;fspd; Jauk;  b. kPdth;fs; Jauk; 
c. tzpfh;fspd; Jauk;    d. tPuh;fspd; Jauk; 
e.  tpil njhpatpy;iy 

 


